Name Chemistry [

SOL Questions — Chapter 4
For each of the following bubble in the letter of the best answer on the GREEN side of your scantron.

1. Elements from which two groups in the periodic table would most likely combine with each other to form an
ionic compound?

a. land?2 b. 16 and 17 c. land 17 d. 17 and 18
2. Which of the following describes what takes place when iron (Fe®) is oxidized to Fe**ions?
a. A gain of two electrons b. Aloss of two electrons

c. A gain of two protons d. Aloss of two protons

3. The formula for lithium nitride is —

a. LiN b. L|3N C. L|3N3 d. NL|3

4. Chlorine and bromine are in the same family in the periodic table. According to the .
information in the table to the right, what would be the correct formula for sodium Selected Polyatomic lons

bromate? Name Formula

a. NaBrO b. Na,BrO c. NagBrO; d. NaBrOs Hypochlorite | CIO
Chlorite ClO,

5. When naming a transition metal that has more than one oxidation number, the Chlorate ClOy

numeric value of the oxidation number is indicated by a — Perchlorate ClO4

a. Roman numeral b. Greek prefix c. subscript d. suffix

6. An alkali metal will most readily react with —

a. another alkali metal ~ b. an alkaline earth metal c. a halogen d. anoble gas

7. Which of these is the correct name for KBr?

a. Potassium bromine b. Potassium bromate c. Potassium bromide d. Potassium bromite

8. What is the correct formula for ammonium phosphate?

a. NH4PO, b. (NHg)2(POy)3 c. (NH,)sPO, d. NH4(POy)3

9. Cobalt, a transition metal, can have an oxidation number of either 2+ or 3+. Which of these represents the
two possible chemical formulas for the chemical combination of cobalt with oxygen?
a. CoO, Co,03 b. Co0;3, C 050, c. C0,03, Co30, d. CoO, Co50,

10. Which statement describes the equation to the right?
a. Magnesium transfers an electron to each atom of the iodine molecule.
b. The iodine molecule transfers two protons to magnesium.

c. Magnesium shares an electron with iodine. S +2 =5 .H
d. lodine becomes a free monatomic element. IV O+ l l MEI * L) .|.=
11. To indicate the number of atoms of each element present in a molecular compound, scientists use —

a. Roman numerals b. superscripts c. prefixes d. subscripts

12. The correct name for Mgl, is —
a. magnesium iodide b. magnesium iodite c. magnesium(ll) iodide d. magnesium diiodide

13. Which is the correct formula for iron(l11) sulfate?
a. F93(SO4)2 b. FeSO, C. FEZ(SO4)3 d. F92(803)3

14. The correct formula of an ionic compound containing AI** and CO5?* is —
a. A|C03 b. Al(CO3)3 C. AI2(COg)3 d. AI3(CO3)2



15. The name for NH4F is—

a. ammonia fluoride b. ammonium fluoride
c. nitrogen tetrahydrogen fluoride d. ammonium fluorine
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16. An alien astronaut landed on Earth and created the periodic table shown. The astronaut wastrying to
determine what type of bond would be present in several compounds. The type of bond in acompound
containing G and E would be —

a. ametallic bond b. a nonmetallic bond c. acovalent bond d. an ionic bond

17. The correct formula for copper (I) bromide is —

a. CuBr b. CuBr, c. Cu,Br d. Cu,Brs
18. The formula for magnesium chloride is —

a. MgCl, b. MnCl, c. Mg,Cl; d. MnClI
19. The correct name for Mgs(PO,), is —

a. magnesium phosphite b." trimagnesium phosphate

c. magnesium(l11) phosphate d. /magnesium phosphate

20. In HNO; the oxidation state of hydrogen is 1+ and the oxidation state of oxygen is 2-. Therefore, the
oxidation state of nitrogen is —

a. 5+ b. 4+ c. 3+ d. 1-

21. What is the correct formula for aluminum chloride?

22. Which of the following is the correct name for the compound MnF;?

a. Manganese fluoride(l11) b. Manganese(lll) fluoride

c. Manganese(l) fluoride(l1I) d. Manganese(ll) fluoride(l11)

23. Sodium chloride conducts electricity when dissolved in water. What type of bond is present in NaCl?
a. Nonpolar covalent b. Polar covalent

c. Hydrogen d. lonic

24. According to the periodic table, Mg will most likely react with elements in which of these groups?
a. 1 b. 3 c. 17 d. 18

25. What is the chemical formula for iron(ll) phosphide?
a. Fe,P b. FeP, c. FeoP; d. FesP,

26. Which of these compounds is most likely to contain an ionic bond?
a. H, b. SO, c. CH, d. CaClz

At the completion of this assignment you will be prepared to take the following Chapter 3 on-line quizzes:
e chapter 4 sol questions quiz 1
e chapter 4 sol questions quiz 2



28. Which of the following shows the correct number of atoms of each element in the formula Mg(NQO3),?
a. 1 magnesium atom, 2 nitrogen atoms, and 6 oxygen atoms

b. 1 magnesium atom, 2 nitrogen atoms, and 5 oxygen atoms

c. 1 magnesium atom, 1 nitrogen atom, and 6 oxygen atoms

d. 1 magnesium atom, 1 nitrogen atom, and 5 oxygen atoms

29. What is the name of NH,OH?
a. Ammonium hydroxide b. Nitrogen oxygen hydride
c. Nitrogen hydroxide d. Ammonium oxygen hydride



